N = 0l & At & Ml A

SN REHFD
Hu: DS(+2UDS/HEDS - 2RSIIE)

ool DEYH (29l & 2)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
mES 16,670,307 16,614, 129 56,178

2 51,000 40,800 10,200

X 120,000 120,000 0

< 268,547 270,632 A 2,085

Al 6,230,760 16,182,607 48,063

DEHA(+SYDE/HEDE - 2RSIIE) 14, 125,407 14,069,229 56,178

= 51,000 40,800 10,200

X 120,000 120,000 0

< 268,547 270,632 A 2,085

Al 3,685,860 13,637,797 48,063

Rk 1,529,636 1,479,636 50,000

X 75,000 75,000 0

Al 1,454,636 1,404,636 50,000

(2)SZ2EEA XA 200,000 150,000 50,000

X 75,000 75,000 0

Al 125,000 75,000 50,000

301 Y a3 200,000 150,000 50,000

X 75,000 75,000 0

Al 125,000 75,000 50,000

IEEERE] 200,000 50,000 50,000
OZTEHEUA NBMY(H=HA SYH 24)

AT 200,000,0002 200,000 150,000 50,000

X 75,000 75,000 0

Al 125,000 75,000 50,000

SsAY 22l 10,376,112 10,369,934 6,178

2 51,000 40,800 10,200

< 268,547 270,632 £2,085

Al 10,086,565 10,058,502 ~1,987

(E)HN a2y 150,200 155,942 A5, 742

= 33,089 33,994 £905

Al 117,111 121,948 ~4,837

307 812H0| ® 150,200 155,942 A5, 742

= 33,089 33,994 A905

Al 117,111 121,948 ~4,837

09 2+HEES 150,200 155,942 AB,742

OHXd 8243 ZF 150,200,008 150,200 155,942 A5, 742

< 33,089 33,994 £905

Al 17,111 121,948 £4,837

(ENHLSHEHASSMATHE NI 386,030 394,510 8,480

= 193,015 197,255 £4,240

Al 193,015 197,255 £4,240

307 812H0| H 386,030 394,510 8,480

= 193,015 197,255 £4,240

Al 193,015 197,255 A4,240

09 2+LHEES 386,030 394,510 8,480
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SN HH - (EH) - HRAY - BES 0l & p/E-T Hl DS 2
OAMUW & sHE HARSAMYE ME X2
Z & 386,030,000& 386,030 394,510 A 8,480
=) 193,015 197,255 N4,240
Al 193,015 197,255 A4,240
()Xz=012FDEX FHEX 102,000 81,600 20,400
= 51,000 40,800 10,200
S 15,300 12,240 3,060
Al 35,700 28,560 7,140
307 gl2tol & 102,000 81,600 20,400
= 51,000 40,800 10,200
< 15,300 12,240 3,060
Al 35,700 28,560 7,140
09 2HAHAEXS 102,000 81,600 20,400
OXNZO0l8d &R &= XA
23 400,000& * 25504 102,000 81,600 20,400
= 51,000 40,800 10,200
=) 15,300 12,240 3,060
Al 35,700 28,560 7,140




